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1| ®s™ 2.4 93.8 0.08 3.09
2 BT 1.7 85.7 0 0
3 MMAETH 4.7 90.9 0 0
4 [T 2.4 87.1 0 0
5 EFEFIIT 2.2 84.2 0 0
6| Bk 1.6 90.0 0.16 10. 00
1| =& 1.5 100.0 0 0
8 Z=#¥mh 1.7 93.3 0 0
9|  BHHEAT 3.2 100.0 0 0

10]  _E/sHT 1.0 100.0 0 0

1] & AR AT A+ 2.5 100.0 0 0

12| B FHET 2.4 100.0 0 0

13| #ILET 1.2 100.0 0.20 16. 67

14 FEHET 2.6 100.0 0 0

15| ZU%HT 0.4 100.0 0 0

16| SEIKHET 1.5 80.0 0 0

17 B5HET 1.9 100.0 0 0

18|  HRjkHT 0.8 100.0 0 0

19 JLSHT 2.8 100.0 0 0

20| EE{EHT 1.9 100.0 0 0

21 HREFET 2.9 93.8 0 0

22|  EtRHET 2.3 1.4 0 0

23| DB EH 2.6 80.0 0 0

24| WA & LHT 2.2 94.1 0 0

mER 2.2 92.9 0.04 1.64
£ E 1.7 83.2 0.04 2.35
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